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HE: SHAYN A%
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SN EB S (3H) - NEAY - BES ofl &k o San HDE2
—2AS0EBBALY MEE
55,000& 601 x12& 3,960
O9H ZHl 50,515
-2 1,305& x110L x23L*7CH 23,112
- Xz 1,305& x 110 *21L*2CH 6,030
— AR AL 1,305& x110L x21L*50H 15,073
- FUAE FAIAHAZH] 6,300
= A 400,000 x12& 4,800
OF M Al E 125,000 x 1 A% 12 1,500
OA & &Hl S XY 75,005
a=a=upl I RPN 100, 000& ~14CH 1,400
-0l RAXRAFZEH| 23,0003 *56CH 1,288
—-sa& A8 A 110, 000& =7 CH 770
-2HEE 350,000& =2CH 700
- 1195 &R X & 1,000,000& *2 Ml E 2,000
-H3BZAMH, SISEDI 300,000 «2CH 600
-R48F0 BHE L FotxE 4,024
- 24822 XYl 7,500
D JIX=2 1,500,000& *8= *6% 720
ols,s= 1,000,000 *x113=2 *6% 6,780
-SH MM EZER X2 300,000& #2004 A~ 600
-S248HO0I&A SR X &2 100, 000& *41CH *6% 246
- waI)|g X 22 22,000, 000& *6% 1,320
-2AZFTANAE R 22 232,033,330& *6% 13,922
— MAEHI S K22 6,324
— H AICCTVS Xl 22| 5,000, 000& *x2JH 2~ *6% 600
- 22K XHl 5,749
- 11OMBEELR0|&8 HHIE S
250, 000& *9IH &~ 2,250
- 19N A AXEXE HH 2%
300, 000& *6IH 2 1,800
—-EMEALEYH 22,112
- QLA LR E 2L
150,000& x 1 A~ =12 1,800
204 & 2 £~ H H| 265,080 265,080 0
03 SEYREHI 265,080 265,080 0
ORXFRZ2ESH| 100,000& 56 H x12& 67,200
(@)= x=2="F=0:]| 170,000& x97H x12& 197,880
LUK 2L 213,888 200,451 13,437
201 Bt A H| 211,188 183,624 27,564
02 332494l 211,188 183,624 27,564
03322 ¥ MA 29,698
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- XS XA 470,000 *4CH =13] 1,880
-ANSXHEE= 24,738
- XANSEAHSSAME 1,320
5 0] & 33,000& *14CH 23] 924
5E 0] Gt 33,000& *12CH x 13 396
- SaXY FLUHNMEE =5 1,760
==Xt 880, 000& =2CH 1,760
O Xt ghy| 181,490
-AEHEE 4,290,000 «1CH 4,290
-=8s8 4,380,000& =2CH 8,760
-=8358 5,720,000& =3CH 17,160
-AESE 3,770,000& =4 CH 15,080
-UHEs2 7,470,000& x5CH 37,350
-F2=x 7,440,000 *5CH 37,200
--IOXt 3,770,000& *9CH 33,930
— B XA ACIAFQI & A4 3,960, 000& =7 CH 27,720
405 XtabF SHI 2,700 16,827 AN14.,127
01 AL 2B F SHI 2,700 16,827 N14.,127
Oxsdg A 400, 000& *3H 1,200
OxteEg dlglAHolA 500, 000& =34 1,500
AESHALIR2 S 27,620 23,620 4,000
201 et A | 19,020 15,020 4,000
01 AFR22t2ldl 5,420 1,420 4,000
Oget=gH| 5,020
-0elo] StNMER uEls 4,000
—= R A A} 1,020
Ot =< 300, 000& #2204 A~ 600
EERO2 420
ozg=+Y 400
—SXAMAI HAIRIR Y
100,000& x2H 2| £ 2 400
03 At L ] 13,600 13,600 0
OBIAIH 0] Agror™ m Al 6,000
o1 gsU 3l 5,000
(ORRIE SRS 2,600
301 dEtEAZ 8,600 8,600 0
09 HALAHIEA = 7,000 7,000 0
OAagolLt AL EIHAH 24! 7,000& x150H 1,050
OdtHH 0] Aot A I S 4
5,000& 180 900
OFZ119tE M E oratd ol 24
5,000& 800 4,000
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SN SHAYA
M 2HLAYMN 2L
el 3 ESgLsE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
02 2324l 4,968 4,368 600
Oz&2= & HA 3,768
- 2dAEE= 32,000& »99H 3,168
~HBES 197U HAHY2Y
0,000& »30H 600
OZBF3S Ha2ZE 9=l 1,200
- AAHAAE 100, 0003 *6IH £ *23 1,200
203 YR =&l 2,000 2,000 0
03 A F=XH R =AY 2,000 2,000 0
OaggRFA 2,000
405 TtobF S| 510 9,000 A 8,490
01 AL ESFHSHI 510 9,000 A 8,490
OAXYEEE Jthict B8 78 510
AYSEEL 200,197 195,078 5,119
EALAIZ EHI 72,307 81,600 29,293
401 AIEHI L 201 72,307 81,600 A9,293
01 A& HI 72,307 81,600 A9,293
O 119X AU B3 At 22,376
Ozd ¥ FXTH S HISE2 FIEX 21,951
OFXM Tl &S A 12,980
OAYESES LD MZT A 15,000
L E AL 2e 34,250 29,750 4,500
201 L2l 1,750 1,750 0
02 2322l 1,750 1,750 0
OA& &8l =X bl 1,750
—agE=22 20,0002 *175JH 2~ %1/2 1,750
401 Al HIZ 201 I 32,500 28, 4,500
01 A& HI 32,500 28, 4,500
Oastd a4 4,000,000 *30 2 12,000
O23d B 2,000,000 *504 2~ 10,000
L25™ BSE 500,000 x50 A 2,500
OdlatAstE X &X 8,000,000 » 104 2 8,000
LYY BB 93,640 83, 9,912
206 = Hl 42,990 28, 14,175
01 M2l 42,990 28, 14,175
O3t & A 32k HI 1,300,000& 5= & 6,500
gtz s 15,000 70 1,050
(ORRICELESIEE= DUSECES) 20,0003 «6CH 523 6,240
O Zxt &asH 15,000 x50 x 103l 750
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M SEAYUN A28 LG
el APy CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o192l SSHXNES
1,000, 000& 501 *23] 10,000
Osdg 9 =3¢& 50, 000& *20H4 1,000
OO & FAIIME 80,000& x20M E 1,600
OYEEMHA A2 5,000& 600K 3,000
OgEMHE B2 250,000& 104 2,500
OstMegl= etdOlE XA 1,350
— 2 3HD] 25,000 *30H 750
- SESHAEE 20| 20,000 *30H 600
OFUHES JI=ME IZAUANEES 9,000
— 2 31D] 25,000& *2004 5,000
-H=3288 2 X0 20,000& *2004 4,000
405 XtabF SHI 50,650 54,913 N4, 263
01 A&t =S F St 50,650 54,913 N4, 263
O3 & 2 & d| 4,350
—AgSA 87,500& x20& 1,750
=t 200,0002 *13CH * 17} 2,600
OMQIQIHE D B2tgt 300,0002! 544 16,200
Q0S8 SUAYHT g 8,600
02432 HB=I Y
20,000,000 x 1Ml E 20,000
Oagiley g™ 1,500,000& 1Ml E 1,500
HAE2H A 5,342,599 5,061,951 280,648
olad 2 A 5,136,972 4,864,974 271,998
ol 2AH| 5,136,972 4,864,974 271,998
101 2124 d| 4,985,172 4,712,454 272,718
01 2= 4,985,172 4,712,454 272,718
OEZH 2,903,716
- A8 2,903,716
A8H 4,485,600 x1H x12& 53,828
ey 4,051,300& x3H x12& 145,847
AeA 3,504,400 x10H ~12& 420,528
A 3,152,200 x10H x12& 378,264
CABEE 2,785,900 x27H x12& 902,632
Eng=lami 2,147,400 »21H x12& 541,145
A BEAL 1,672,000 »23H x12& 461,472
OFSF=g=] 265, 168
Oxh22E 909,625
- A2t 224 583,668
- 02224 204,618
-5922Y 121,339
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02 02 0%
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SA BB O () - NRAY - HES 0l &+ o4 il

OFSL R =y 398,725

-EE 81,840

- < Xt 40,000 x64H « 12 30,720

A EHIS 20,0003 x186H «x12& 44,640

a3 6,480

- ANHSHEE+Y 24,128

nssu 464,000 *13 43 24,128

- E2=gltit= 84,720

253 0 & 130,000 x11H » 128 17,160

- 208 ~254 0] BF 110,000& x26H «12& 34,320

- 164 ~20 0] Bt 80,000 «9H «12& 8,640

- 108 ~154 0| 8¢ 60,0003 x15H x 123 10,800

- 5E~103 0 2t 50,000& «23H «12& 13,800

-fEgz2exg 50,000 *95H « 12 57,000

- YR 30,0003 «3H 128 1,080

= DV FSEe R =1 80,000 *95H 12& 91,200

-SRI 52,112

—elgRsy 4,486,000 *9%*x1H 123 4,845

—EHIR_ 50,0003 1 «12& 600

-E3tat3 1,200

O& A gAY 130,000& x95H »12& 148,200

OYEFOHYI 290,372

O¢IIE &l 69,366
M2 151,800 152,520
02 A2l 151,800 152,520

OFE S 400,000& «1H 128 4,800

Ooaetd 250,000& x3H 12 9,000

OFES - 155,000& x»20H «12& 37,200

OFE-=p, 140,000 x27Y «12& 45,360

OAagn, At 105,000& »44H 128 55,440
|22l 205,627 196,977
JlE2zl 205,627 196,977
201 L2l 87,263 85,873
01 At 22l 84,263 83,473

OJle=+=&Hl 12,573

ozg=¢% 50,900

-3¢ 50,900

OJlEs &l 20,790
02 =224l 3,000 2,400

Oz&22= & HA 3,000

—udsz 250,000 128 3,000
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SN SEAYA
Ha: Y2 YA
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
202 04| 55,044 55,044 0
01 2Ll 55,044 55,044 0
OJle0u ] 55,044
203 €2 F=&d| 31,720 29,920 1,800
01 J| 2 2H L R2=XH| 7,000 7,000 0
O8N E 4,400,000 x1H 4,400
OOHM HI B & 1,300,000 2 2,600
02 ERIIAH 2 F=EH| 3,960 3,960 0]
(OESEEPNPIRSESE:| 3,960
04 EASHEYRFAH| 20,760 18,960 1,800
O= 21190t A g 380,000 x 10 A x12& 4,560
OFAH190 M HIH 350,000 10 &~ +12& 4,200
oAt S, ogord) A PR
250,000 404 2~ «12& 12,000
204 = 2 =8 A H| 12,000 12,000 0
01 Mg HPSHAH| 12,000 12,000 0
(OE=19N PNy 400,000 x1H x12& 4,800
ODHE 100,000& x3H ~12& 3,600
OOt HIE , 2 RCHA 100,000 x3H « 122 3,600
405 XHAHF S HI 19,600 14,140 5,460
01 AL 2 ZF S| 19,600 14,140 5,460
Oelg HFEH 1,400,000 «7CH 9,800
OZglH 600
OFAX 600, 000 x2CH 1,200
O& XK= AL 4,000,000 =2CH 8,000
MEES 228,600 234,000 N5,400
PSS NE] 228,600 234,000 N5,400
BEIE 228,600 234,000 A5,400
311 X 20| AHAH & 48,600 54,000 AN5,400
05 JIEFXF 2 0] Xpab&t 48,600 54,000 A5,400
O=SHEALYAN A= 48,600
601 Xl S| S 4at&t 180,000 180,000 0
05 JIEIZU XYL =S| =4E 180,000 180,000 0
O=HEALYUAN A= 180,000




